Choose the correct option:

1. The mth term of the AP 5, 11, 17, 23, ... is :

@6n-1\
@ 6 m— 1 (b) 6 m + 1 &) Sm=1
2. If the nth term of an AP is 2n — 1, then its 20th term is : : (@) 39
(a) 33 (b) 34 (©) 3
3. The number of terms in the AP 7, 16, 25, ..... 349 1s : © 38 (@) 35
9
(a) 40 (b) 3
4. The sum of first 8 multiples of 3 is : ©) 96 (d) 95
(a) 108 (b) 100

5. If the nth term of an AP is T, = 5 — 3, then its common difference is °

() 4
(a) -2 (b) -3 ) &
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The first term of the A

(a) 2 P whose pth term is 3p—1is

& (b) 3 () 4 @ 5
The 10th term of the Ap 120, 116, 112 ... is :

(a) 80 (b) 82 © 84 o
,Mr% woBEos difference of the AP =15, -12, -9, ... is :

i (b) -3 © 2 d) =2
HM. wro WES of first nterms of an AP is given by S, = 8,2 — n, then the first term of the AP is:

a) - (b) 8 ©) 7 (d) -1
AN% :WU term of an AP is given by T, = =51 + 1. The common difference of the AP is -

& - (b) -4 (c) 4 (d) 2
For an AP, if a = 5, ¢ = 3 and thn = 50, then the value of # is :

(a) 10 (b) 16 (c) 20 (d) 21
The sum of first 8§ multiples of 3 is -

(a) 100 (b) 104 (c) 107 (d) 108
Which term of the AP 4, 9, 14, 19, ... is 1242

(a) 20th (b) 22nd (c) 24th (d) 25th
The 10th term from the end of the AP -2, -6, -10, ... —110 is :

(a) —72 (b) 74 (c) —74 (d) —70
If(5m+2), (4 m—1)and (m + 2) are in AP, then the value of m is :

(@ 1 (b) 2 (c) —1 (d) 3

1 e
The 11th term of the AP -3, > 2 .18
20 (d) 16
(a) 22 (b) 21 | @.
The: common difference of the AP whose pth term is 8p + rva “u @ s
b) 4 (c) -
(@) 1 (
th term of the AP Nu mu mu e IS0 _
The n ‘ & B — i ©) 2n + 3 (d) 3n -1
(@) 3n + 1 .
The 100th term of the AP x, x + 1, x + 2, ... 18 (d) x - 99
(b) x (c) x+99

(2) 99 14, 11 —40 is :
The 6th term from the end of the AP 17, 14, 11, .... -

_ (c) —20
(@) 25 (b) =25 e
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